Supplementary Exercise 11
(The question numbers follow those in the tutorial.)

11.7
The following index is based on Year 1:

	Year
	1
	2
	3
	4
	5
	6
	7
	8

	Index 1
	100
	107
	115
	126
	139
	145
	150
	152


a)
Calculate a new index based on Year 4.

b)
Calculate a new index based on Year 8.

c)
Find the percentage point rises between subsequent years.

d)
Find the percentage rises between subsequent years.

11.8
The following table shows the values of an old index from years 1 to 5.  It was rebased in Year 5, so the new index is shown for subsequent years:  

	Year
	1
	2
	3
	4
	5
	6
	7
	8

	Index 1
	250
	278
	340
	385
	
	
	
	

	Index 2
	
	
	
	100
	109
	123
	136
	147


a)
Complete Index 1 and Index 2 for Years 1 to 8.

b)
If an index linked pension was worth £8 500 in year 1, what was it worth in the 
other years?

c)
What was the percentage point increase in pension each year using (i) Index 1 and 
(ii) Index 2?

d)
What was the percentage increase in pension each year?

11.9
Your company’s turnover, in £ million, has been as shown below:

	Year
	1999
	2000
	2001
	2002
	2003
	2004
	2005

	Turnover
	74.6
	77.0
	80.2
	82.0
	84.7
	86.0
	88.4


In the corresponding years the value of the RPI has been:

	Year
	1999
	2000
	2001
	2002
	2003
	2004
	2005

	RPI
	165.4
	170.3
	173.3
	176.2
	181.3
	186.7
	192.0


Find the deflated turnover, taking the RPI into consideration, using 1999 as the base year.

11.10
The following information was recorded about the sales of gardening items from a local nursery:

	
	Number of items sold (dozen)
	Price per item (£)

	Item
	Year 1
	Year 2
	Year 3
	Year 1
	Year 2
	Year3 

	Forks
	  5.0
	  6.2
	  5.9
	12.50
	13.20
	14.00

	Spades
	  8.6
	  7.8
	  7.3
	10.75
	10.75
	11.00

	Trowels
	12.0
	14.2
	13.5
	  4.25
	  4.95
	  5.50

	Hoes
	  3.5
	  4.2
	  4.5
	  7.73
	  8.40
	  9.20

	Shears
	  1.9
	  2.2
	  2.7
	22.50
	23.00
	24.00


a)
Calculate the simple aggregate price index for years 2 and 3. Year 1 = 100.

b)
Calculate the simple aggregate quantity index for years 2 and 3. Year 1 = 100

c)
Calculate the Laspeyre’s index for Years 2 and 3 with Year 1 as the base year.

d)
Calculate the Paasche’s index for Years 2 and 3.

e)
Calculate the Fisher’s index for Years 2 and 3.

11.11
A businessman has a portfolio of shares from six companies A, B, C, D, E and F. He increases his holding of these from time to time and keeps a record of the share prices at the end of each month. The table below records his holdings and the share prices at the end of 4 consecutive months:

	
	Share price (£)
	Number held (‘000)

	Co.
	April
	May
	June
	July
	April
	May
	June
	July

	A
	58.2
	54.5
	57.5
	60.2
	  4.0
	  4.0
	  5.5
	 5.5

	B
	0.78
	0.52
	0.36
	0.27
	12.0
	13.0
	14.0
	15.0

	C
	4.67
	6.86
	7.90
	9.32
	  7.5
	  8.0
	  8.0
	  8.5

	D
	1.23
	3.64
	4.67
	2.30
	  3.0
	  3.0
	  3.0
	  5.0

	E
	27.3
	28.6
	28.9
	29.5
	  7.5
	  7.5
	  7.5
	  7.5

	F
	37.0
	24.7
	20.5
	10.3
	  2.0
	  7.0
	12.0
	17.0


a)
Calculate the Laspeyre’s index for May, June and July using April as the base 
month.

b)
Calculate the Paasche’s index for comparing May, June and July with April.

c)
Calculate the Fisher’s index for comparing May, June and July with April.

Answers
11.7
a)
79.4,   84.9,   91.3,   100.0,   110.3,   115.1,   119.0,   120.6


b)
65.8,   70.4,   75.7,     82.9,     91.4,     95.4,     98.7,   100.0


c)
7,    8,    11,    13,    6,    5,    2


d)
7.0%,    7.5%,    9.6%,    10.3%,    4.3%,    3.4%,    1.3%

11.8
a)
419.7,    473.6,    523.6,    566.0,    64.9,    72.2,    88.3


b)
£9 450,   £11 560,   £13 100,   £14280,    £16 110,    £17 810,   £19 250


c) (i)
28,    62,    45,    34.7,    53.9,    50.0,    42.4


    (ii)
7.3,    16.1,    11.7,    9.0,    14.0,    13.0,    11.0


d)
11.2%,    22.3%,    13.2%,    9.0%,    12.8%,    10.6%,    8.1%

11.9

74.6,    74.8,    76.5,    77.0,    77.3,    75.8,    76.2,    76.2
11.10
a)
Year 2:  104.5;

Year 3:  110.3


b)
Year 2:  111.6,

Year 3:  109.4


c)
Year 2:  105.5,

Year 3:  111.8


d)
Year 2:  106.0,

Year 3:  112.5


e)
Year 2:  105.7,

Year 3:  112.1

11.11
a)
May:  98.4,

June:  101.0,

July:  100.5


b)
May:  90.7,

June:    84.4,

July:    67.9


c)
May:  94.5,

June:    92.3,

July:    82.6
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